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1 EAKR $£Hx| 3 FEL KT 34 37 71
2 ik T 3 RKFFIAF 36 37 73
3 tkE Bz | 4 | KBRFRAFE 36 38 74
4 = TE 2 il e 37 38 75
4 R B4 2 KIRF TR 36 39 75
4 HO 2 | KERFBKF 36 39 75
4 A EE 3 | RERFBKF 36 39 75
8 AE BEF| O3 I EEARF 39 37 76
8 EO 8 4 | KREREZFEKRF 39 37 76
8 =R HE 2 KIRF B K F 37 39 76
11 NE B 3 KB F B K5 39 38 77
11 8 ETF 3 KRF B K F 39 38 77
11 mHF FE 4 KFFIKRF 38 39 77
11 RHE FIF 4 RKFFIAF 36 41 77
11 7 (4 2 KFRIRF 35 42 77
16 Ay ERK 3 KREEKRF 38 40 78
16 8K *kH 4 RKFFIKRF 38 40 78
16 AN EFE 3 & KT 37 41 78
16 o N | 2 FAELKRF 35 43 78
20 tidR R 4 RKFFIAF 41 38 79
20 R fiEE | 2 S AEEREF 38 41 79
22 =% #k 4 KIRF T ARF 40 40 80
22 a8 HF 3 KB F B K5 40 40 80
22 Bl IKE 3 FREZFRF 39 41 80
22 B BAIRE 3 RKFRIRF 39 41 80
22 R B 4 EEAKRF 38 42 80
22 WHe ZZ 3 KB F B K5 36 44 80
28 LA #% 4 KT 41 40 81
28 T ®1ZE 3 KFFIARF 40 41 81
28 BE B3 4 AAEERF 37 44 81
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31 K= EF 4 EEAKRF 40 42 82
31 KEF I Bn 2 KT 37 45 82
33 tiFh FHE 2 KFFIAFE 44 39 83
33 R OEK 3 KFFIAF 44 39 83
33 Eixs o | 2 EEAKRF 41 42 83
33 = 2 THE KT 40 43 83
37 AR F1Th 2 KIRF T RF 43 41 84
37 R =R 2 BEAKT 40 44 84
37 TN TS 3 AN 38 46 84
37 B E4fE | 3 TH KT 37 47 84
41 IKREY B8 2 E3fip e 43 42 85
41 MHE B 4 KR F B K5 43 42 85
41 fghll HFE= | 4 RKFFIKRF 40 45 85
44 —HEE 3 TH KT 43 43 86
44 N 3 KIREZEKRF 41 45 86
46 HE BK 4 KR F B K F 44 43 87
46 ®RE BB 4 RKFFIKRF 41 46 87
48 REx BE 2 | REEZEKRF 41 47 88
49 WiE #&7Th 2 RKFFIKRF 45 44 89
49 BIR T 2 TBRFKF 44 45 89
49 = 2 RESEEKRF 42 47 89
52 KA EBK | 2 TERFKF 43 47 90
53 mr fE&F 3 TR 43 48 91
54 dTH L= 2 EafiipiNeal 46 51 97
55 FE p 2 iy = 48 51 99
R AN 4 RKFFIARF

EFE I 7 ER




